
 

 

 

 

 

 

 

 

 

 

                                                                          CAN-AM DEFENDER WINCH MOUNT 

                  

 

NOTE:  This winch mount s for smaller winches. 

The larger 4000# - 4500# winches with 6” bolt pattern 

will automatically bolt up to the machine.  The smaller  

winches with the 4-7/8” bolt pattern will require this winch 

mount plate. 

 

First attach winch to winch plate using hardware provided with 

winch. Depending on winch you may have to place winch mount 

bolts in place before attaching winch. 

 

After bolting winch to plate now you can attach the winch with 

plate to the machine with the 5/16 x 1 hex bolts.  The winch 

mount plate will line up with holes in the vertical frame tubes. 

Use the spacer between the frame tube and the winch mount 

plate for bolt head clearance on the winch bolts.  Place nylock 

nut on the back side and tighten securely.  Bolt pattern in the 

middle is for the smaller 2 bolt pattern style winches. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTIONS OR COMMENTS PLEASE CALL 320-964-1616 Mon. thru Thur.  7:00 to 4:30 CST                         INST1627 

PART# QTY. DESCRIPTION

1627-1 1 Winch Mount Plate

HDW9412 4 5/8 x 1/4 Spacer

HDW2051 4 5/16 x 1 Hex Bolt

HDW7058 4 5/16 Nylock Nut

INST1627 1 Instruction Sheet


